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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 26/02/2024
Exam Time 2:30 PM - 3:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1 In the following question, select the related letter pair from the given alternatives.
TYC:WBF 1 ?
Ans X 1AMV : VMJ
X2 POL:ZXU
A3 LSU:MLL
« 4 CDF : FGI
Q2 Two positions of a dice are given below. What will come on the face opposite to the face containing ‘3’ on it?
Ans X1 2
X2 4
¥ 3 06
X4 ]
Q.3

In a certain code language, ‘CASKM is coded as *69271°, ‘*CHARM is coded as “135767, ‘CIAOS’ is coded as
‘746827, What can be the code for *H" in that code language?

Ans X117
X2 1
3 3
X4 6
Q.4

In the following question, select the missing number from the given series.

111, 122, 133, 2, 155, 166
Ans X 1. 143
X2 145
X3 148
74 144
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Q.5

Three Statements are given followed by two conclusions mimbered I and II. Assuming the statements to be true, even if

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statement I: No land is water.
Statement II: No water is air.

Statement III: No air is forest.

Conclusion I: No land is forest.

Conclusion IT: Some air are water.
Ans

X 1. Only conclusion I follows

« 2. Neither conclusion I nor IT follows
X 3. Only conclusion IT follows

# 4. Both conclusions I and II follow

Q6 Tn the following question, select the missing number from the given series.

44, 46, 54, 86,214, ?
Ans X 1. 719

X2 716

X 3720

4 726

Q7 Which two numbers should be interchanged to make the given equation correct?

18%x3+9+5-6=2
Ans X1 18 and 6

X2 3and 5

+ 3 2and 3

X4 5and9

Q8 By Interchanging the given two numbers which of the following equation will be NOT correct?

3and 5

Ans X 1. 5_-3+6=4
X2 7x4-5+3=30
X3 5+3x2-1=12
V4 5x4+3-2=18
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Q9 Select the figure that will replace the question mark (?) in the following figure series.
Ay ydRyyan
\&[2/ [ \e]¥/ [\e]Y

Ans

mran
\|¢/

*

X2 e

1l ?
AR
\e| Y/
AR
\7|¢/

Q.10 Eight athletes Sunil, Abhishek. Mohit, Cheenu., Rahul, Tanu, Koyal and Ankit are sitting around a circular table facing
opposite to the centre (not necessarily in the same order). Koyal is third to the left of Rahul. Tanu is third to the right of
Cheenu. Mohit is second to the right of Sunil. Abhishek is second to the left of Cheenu. Tanu is second to the left of
Sunil. Who is sitting second to the right of Rahul?

Ans X 1. Koyal
X 2. Ankit
A 3. Tanu

« 4 Abhishek
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Q.11

Ans

A piece of paper is folded and punched as shown below in the question figures. From the given option figures, indicate

how it will appear when opened?

X 3. D

A\
o

O al:l
x4, £
O QD

Q.12

Ans

In a certain code language, ‘FEAR’ is coded as ‘JJEW’. What is the code for ‘FLAT’ in that code language?

« 1. JQEY
X 2. JQDY
X 3. JREZ
X 4. JQEZ

Q.13

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

RQ. NO, LK, HI, ?

<1 FH
v 2. FE
x 3 TQ
X4 FX
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Q.14 Which of the following groups of letters when sequentially placed from left to right will complete the given series?

dijjkiijjlkdijjk iijjkdeijjlekiijjlekiijjldiijjlekii kk
Ans X1 kiji

X2 jjkk

v 3 kkjj

X 4 iijk

Q15 After arranging the given words according to dictionary order. which word will come at Third” position?
1. Sloven
2. Slow
3. Slough
4. Slobber

5. Slouch
Ans x 1. § IGW

« 2. Slough
# 3. Slouch

< 4. Sloven

Q16 P Q.R.S.T. UandV are seven friends sitting in a single row facing North. S is to the immediate right of R. T and P are
neighbours of U.Q is to the immediate left of R and on second place from left most end. P is at the right most end. Who
is sitting on the immediate right of T?

Ans X1_R
X2 Q
X3 P
¥4 U

Q.17 Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third

letter cluster and the second letter cluster is related to the first letter cluster.

NICE : MOHJBDDF :: KIND : JLHIMOCE :: LAZY : ?
Ans X 1. KMZBZXAY

X 2. MKBZAYZX

X3 AYZXMKBZ

v 4 KMZBYAXZ
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Q.18

Select the figure that will replace the question mark (?) in the following figure series.

[ | NN | M|

Ans

M
MV
W
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Q.19

Ans

A paper is folded and cut as shown below. How will it appear when unfolded?

o 1.

x 4.

O

o}

Q.20

Ans

Pointing towards a picture of a girl, Raman said, **She is the sister of my mother’s husband™. How that girl is related to
Raman?

« 1. Father’s sister

X 2. Sister

X 3. Father’s Mother
< 4. Mother

Q1

Ans

The Government
coming fiscal year) that reveals the budgetary policy of the Government to achieve the twin objective of growth and

stability.

X 1. Policy

< 2. Revenue

X 3. Plan

« 4. Budget

Section : Part-B-General Knowledge and General awareness

is a statement of expected receipts and expected expenditures of the Government (for the
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Q2 Which of the following articles of the Indian Constitution mentions abolition or creation of Legislative Councils in

States?

Ans X 1. Article 161
+ 2. Article 169
X 3. Article 165
X 4. Article 173

@3 In which state of India is the 'Flamingo Festival' organized?

Ans X 1. Nagaland
X 2. Sikkim

2 3. Mizoram

« 4 Andhra Pradesh

Q4 The first five yvear plan of India was based on

Ans X 1. Mahalanobis Plan
+ 2. Harrod-Domar Model
2 3. Nehru Model
X 4. Gadgil Yojna

Q5 National Nritya Shiromani Award 2022 was won by
Ans X 1. N.Rajam

« 2. Aparna Satheesan

X 3. Anuradha Pandey

X 4. Raj Bisaria

96 The nineteenth century saw the golden age of under the patronage of Wajid Ali Shah.

Ans X 1. Kuchipudi

X 2. Odissi
X 3. Manipuri

« 4 Kathak

Q7 The script used by the Sunga was a variant of Brahmi, and was used to write the language.

Ans & 1. Sanskrit
X 2. Urdu
X 3. English
X 4. Hindi
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Q8 Ip 2023, the Union Cabinet of India approved the National Green Hydrogen Mission.
Ans X 1. June

X 2. July

« 3. January

X 4. March
Q9  InVolleyball, if the game istiedat _ in any set (except fifth set), the set continues till one team builds a two-point

lead over the other.

Ans 12424

X2 11-11
X3 14— 14
X4 18-18

Q10 The MRTP Act of 1969 aimed at:

Ans X 1. Promoting monopolies in key industries

X 2. Promoting free trade agreements
+ 3. Regulating and controlling monopolistic and restrictive trade practices

X 4. Encouraging foreign direct investment

Q11 Prime Minister Narendra Modi inaugurated the priority section of Delhi-Ghaziabad-Meerut RRTS Corridor at
Sahibabad RapidX Station. Uttar Pradesh on October 20, 2023. What does 'T" stand for in RRTS?

Ans X' 1. Transform

X 2. Telecom
+ 3. Transit
X 4. Traffic

Q12 Which sport is played by the Indian sportsperson Aruna Mishra?

Ans X' 1. Cricket
X 2. Hockey

+ 3. Boxing
X 4. Table Tennis

Q.13 Which iconic playback singer, known for his mesmerizing voice and classic hits like "Mere Sapno Ki Rani Kab Aayegi
Tu." was also a music director and compaoser?

Ans X 1. Mohammed Rafi
X 2. Mukesh
X 3. Talat Mahmood
+ 4. Kishore Kumar
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Q.14

According to the Indian Constitution, the Right to protection of life and personal liberty is a:
Ans X 1. Fundamental Duty of State

X 2. Non enforceable rights

+ 3. Fundamental Right of an Individual

X 4. Directive Principle of state policy

Q15 As of October 2023, who among the following is the governor of Odisha?

Ans X 1. Ganeshi Lal
X 2. S.C. Jamir
/< 3. Hemant Soren
« 4. Raghubar Das

Q16 According to the 2011 census of India, the literacy rate in India is percent.

Ans 172,99
< 2.62.99
2 304,04
X 4 54.04

Q17 Which of the following is a's' block element?

Ans X1, Scandium

X 2. Vapadium
# 3. Titanium
" 4. Rubidium

Q18 Average density of population in Indiais  persons per square km. according to 2011 census of India.
Ans X' 1. 362

X2 342

3. 382

X4 322

Q19 Who among the following won the ICC U19 Women's T20 World Cup 20237
Ans X 1. New Zealand

X 2 England

+ 3. India

X 4. Australia

Q.20 was the founder of the Widow Remarriage Association (1861)

Ans X 1. Keshub Chandra Sen

+ 2. Mahadev Govind Ranade
X 3. Dr. Atma Ram Pandurang

X 4. Debendra Nath Tagore
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Section : Part-C-Elementary Mathematics

Q1 Two trains are moving in the same direction at the speed of 40 km/hr and 90 km/hr, their lengths are 275 metres and 350

metres respectively. What will be the time taken by faster train to cross the slower train?

Ans 1. 45 seconds
X 2. 36 seconds
X 3. 60 seconds
X 4. 54 seconds

Q2 Aalone can do a work in 40 days and B alone can do the same work in 60 days. In how many days will they together

complete the same work?
Ans 1. 24 days

X 2. 32 days

X 3. 25 days

X 4. 29 days

Q3 If4P =5Q and 3Q =4R, then what is the value of P: Q : R?
Ans X 1. 7:6:2

X2 25:16:10

X3 10:8:3

v4.5:4:3

Q.4 Sneha alone can complete a work in 30 days and Anju alone can complete the same work in 45 days. Anju alone worked

for first 15 days and then left the work. In how many days will Sneha alone complete the remaining work?
Ans X 1. 28 days
X 2. 21 days
X 3. 27 days
« 4. 20 days

Q5 YWhat is the value of 810+ 5—25 % 13 +2 % 127
Ans 1 _]130

X2 47
X3 _39
X4 147

Q.6 If the cost of 5 apples and 8§ mangoes is same as the cost of 9 apples and 4 mangoes, then what is the ratio of the price of

a mango and the price of an apple?
Ans X 1.1:2

X2 4:1

X3 1:3

V4 1:1
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Q.7

Ans 71 $138

A bicycle was bought for $120 and sold at a profit of 15%. Find the selling price.

X 2§11
X 3. 85142
X4 $127

Q.8

Ans

Dinesh purchases 12 dozens of apples at the rate of Rs. 300 per dozen. He sells each apple at the rate of Rs. 30. What is
the profit of Dinesh?

2 1. 25 percent
X 2. 15 percent
X 3. 10 percent

« 4. 20 percent

Q.9

Ans

Successive discounts of 15% and 12% are equivalent to a single discount of :
X 1. 20%

X 2. 27%

X< 3. 18.5%

W4 252%

Q.10

Ans

If 70 percent of X1 =(6/7) of X2, then what is X1 : X27?
« 1. 60:49

X2 30:7

X3 30:49

X4 7:30

Q.11

Ans

In an exam, Sandeep got 55 percent less marks than the passing marks. He got 223.2 marks. If the passing percentage is
62 percent, then what are the maximum marks of the exam?

X 1. 200
X 2. 600
X 3. 400
¥ 4 800

Q.12

Ans

Ritu sold a camera for 224000, earning a profit of 20%. If she wanted to earn a profit of 25%, at what price should she
have sold the camera?

X 1. Rs. 27000
X 2. Rs. 22000
X 3. Rs. 24000

« 4. Rs. 25000
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Q13 Three numbers are in the ratio 3 : 9 : 11 and their HCF is 29. Find the numbers.
Ans X 1. 84, 240, and 300

X 2. 58, 88. and 319
X 3. 144, 261, and 320
« 4 87,261, and 319

Q14 Rs. 20000 is lent at compound interest at an annual rate of 18 percent for 1 vear (compounding annually). If the

compounding of interest is done half vearly, then how much more interest will be obtained?
Ans X 1. Rs. 190
X 2. Rs. 142
« 3. Rs. 162
X 4. Rs. 150

Q15 A sum of Rs. 7000 is invested in a scheme of simple interest. The rate of interest in this scheme is 20 percent per
annum. If Rs. 1750 interest is obtained, then for how many months is the sum invested?

Ans X 1. 21 months
X 2. 24 months
+ 3. 15 months
X 4. 18 months

Q16 Find the value of 1573 +13 {(12 —6) + (48 — 53)}
Ans X 1. 155

X 2. 130

3 121

X4 153

Q17 A new student having weight 47 kg join a class of 41 students and the average weight of the class
reduces by 1.5 kg. What is the new average weight of the class?

Ans  x1.107.4 kg
X2 109 ke
v 3 108.5 kg
x4 110 kg

Q.18  Average age of a group of 27 boys is 21 vears. If a boy leaves the group. then the average age becomes 21.7 vears. What
is the age of the boy who left the group?

Ans X 1. 2.5 years
« 2. 2.8 years
X 3. 3.4 years

X 4. 2 years
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Q19 YWhat is the value of 143 * 13+ 11 + 156+ 13 x 12 —210 x 15+ 14?
Ans X 1. 78

X2 178

3 88

X 4. 168
Q.20

What is the total surface area of a cylinder having radius of base as 4.2 cm and height as 8 ecm?

Ans X 1. 346.04 cm

[

o]

X2 246.58 cm

o]

A3.284.92 ¢cm
¥ 4322 08 cm

I

Section : Part-D-English

Q1 Select the most appropriate word to fill in the blank.

she was partly deaf, she was a gifted pianist.
Ans 1. until

« 2. although

X 3. because
X 4. yet

Q2 Select the most appropriate antonym of the given word.

Morose
Ans o 1. Uplifted

#5 2. Cranky
25 3. Glum
5 4. Gloomy

Q3 TIdentify the segment that contains a grammatical error. If there is no error, select No error’.

We decided that it would be / too good for you to have / some feminine influence.
X 1. We decided that it would be

X 2. some feminine influence.

Ans

« 3. too good for you to have

X 4. No error
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Q4 Identify the segment that contains a grammatical error. If there is no error, select No error'.

You have never loved me; / you have either heart / nor honourable feeling!
Ans X 1. nor honourable feeling!
« 2. you have either heart

& 3. You have never loved me;

X 4. No error

Q5 Select the most appropriate word to fill in the blank.

Colossal sums have  wasted on this project.
Ans X 1. to

X 2. being

X 3. he

+ 4 been

Q6  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Tracing the origin of horse domestication in the prehistoric era have proven to be an exceedingly difficult task.
Ans X 1. Tracing the origin of horse domestication
X 2. No error
« 3. in the prehistoric era have proven

X 4. to be an exceedingly difficult task.

Q7 From the options given below choose the synonym (similar meaning) of the word:

Ossified

Ans 1. Harden
X 2. Amenable
X 3. Docile
X 4. Pliant

Q.8  1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.
To pick/take up the gauntlet

Ans X 1. To reduce one’s worth

« 2. To accept a challenge
X 3. To share the responsibility
X 4. To take a small task
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Q9  Choose the most appropriate antonym of the underlined word.

Davie would be well away, for he would fret about his grandmother, and that would do neither of them any good.
Ans X 1. Agonize
X 2. Bother
X 3. Carp

v 4 Delight

Q10 Select the incorrectly spelt word from the given sentence.

More than once in the course of my questionaire, I have questioned about your love for the country and culture.
Ans X 1. questioned
X 2. course
X 3. culture

« 4. questionaire

Q1 Select the most appropriate word to fill in the blank.

Napoleon was one of the most capable generals in history.
Ans X1 a

X 2. the

X 3. an

« 4. Wo article

Q12 Fijll in the blank with the most appropriate option.
I have taken care that the door is locked and the window fastened.
Ans X 1. deeply

« 2. securely

X 3. unfixed
X 4. safely

Q13 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

For certain, this is the best pizza in town.
Ans % 1. Through thick and thin
+ 2. Beyond a shadow of a doubt

X 3. Benefit of doubt
X 4. Off on the wrong foot
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Q14 Fill in the blank with the most appropriate antonym of the bracketed word.
We’ve learned that (calmness) spreads faster online than joy.
Ans 1 rage
X 2. sweetness
X 3. cumbersome
X 4. calamity
Q15 Select the sentence with no spelling errors.
Ans o 1.
We need to strike a balance between creating false alarms and letting any urgent medical matters fall through the cracks.
< 2.
We need to strike a balance between creating false alarms and letting any urjent medical matters fall throuh the cracks.
X< 3.
We need to strike a balance between creating false alarms and leting any urgent medical maters fall through the cracks.
X 4.
We need to strike a balance between creating false alrms and letting any ergent medical matters fall through the cracks.
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
His speech had begun to (1) . and he passed abruptly from one subject to (2) . Konstantin with the
help of Masha (3) him not to go out anywhere, and got him to bed (4) drunk. Masha promised to
write to Konstantin in case of need, and to persuade Nikolay Levin to go and (5) with his brother.
SubQuestion No : 16
Q16 Select the most appropriate option to fill in the blank No. 1.
Ans X 1. malfunction
« 2. falter
< 3. default
< 4. prompt
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
His speech had begun to (1) . and he passed abruptly from one subject to (2) . Konstantin with the
help of Masha (3) him not to go out anywhere, and got him to bed (4) drunk. Masha promised to
write to Konstantin in case of need, and to persuade Nikolay Levin to go and (5) with his brother.
SubQuestion No : 17
Q17 Select the most appropriate option to fill in the blank No. 2.
Ans X 1. one other
< 2. an other
< 3. on other
« 4 another
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

His speech had begun to (1)

. and he passed abruptly from one subject to (2)
help of Masha (3)

him not to go out anywhere, and got him to bed (4)
write to Konstantin in case of need, and to persuade Nikolay Levin to go and (5)

. Konstantin with the
drunk. Masha promised to

with his brother.
SubQuestion No : 18

Q18 Select the most appropriate option to fill in the blank No. 3.
Ans X 1. preached
X 2. retreated
< 3. acrossed
« 4. persuaded
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
His speech had begun to (1) . and he passed abruptly from one subject to (2) . Konstantin with the
help of Masha (3) him not to go out anywhere, and got him to bed (4) drunk. Masha promised to
write to Konstantin in case of need, and to persuade Nikolay Levin to go and (5) with his brother.
SubQuestion No : 19
Q.19

Select the most appropriate option to fill in the blank No. 4.
Ans X 1. floor

v 2. sky
X 3. uniquely
X 4. desperately

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

His speech had begun to (1)

. and he passed abruptly from one subject to (2)
help of Masha (3)

. Konstantin with the
him not to go out anywhere, and got him to bed (4) drunk. Masha promised to

write to Konstantin in case of need, and to persuade Nikolay Levin to go and (5) with his brother.

SubQuestion No : 20

Q20 gelect the most appropriate option to fill in the blank No. 5.
Ans X 1. outside

2. stay

X 3. inside

/4. commerce

Section : Part-D-Hindi
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B Biadl 4 54 AgH Y B (e Hfid e g |

Ans x1®§
K2 AT
v 5 TR
K4 Dl
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M g g o &1 98 I 39 B, fE B Afe R
W B 56 $% gle AN aH & T e gal Uid|
X 1. DB § US|

X 2. DS TG AW

v 5 WP o

X4 i B e

Q12 oot woa &, 97 BFedr F ¥, 37 T8 T F1 99T FY S AT F BT UF qe 5 &weT &l
St Tk A T ST AT 8@
Ans XL R
v 2 A
X 3. AT
X4 T
A3 Deafaf@T wed &, o) Reed & @, 309 RaFeT &1 990 &1 o F56F & &T a0 oeg F dE9 §7 &

T TeeT B
AT AT Fr (3= FIE & FET FHSAT ¢

Ans o rersar
v 2 =T
X 3 FEAEE
X 4. Fere

O e u gren H{wied Wee 1 [AdH Wss J1d STl

dg ausll U D] SaoR o 8l 6|
Ans K1- maa_[
X 2. gao
« 3. 4l
x 4. aﬁﬁ
A LgfeRad uy ¥ IR el & ¥, 39 faded & 97 &3 o Rad WM & e 98t i w0 aran fdden il
GBI PR B S =gy
Ans o m
v 2. ufgg
X 3. 3113:[
X 4 gfag
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Comprehension:

A e a1w g7 # Fo g ol G av § 3R gw Rea s & 91 Reed Ru v §) 59 w1t A
¥ Pl @ T Rea wue F i FEET-

JTear ar o (1) ¢ ome F=2 3 T 9O & AT F g Fehelm A g1 TE AA HR O
g ar maa (2) 3R el & AR @i 8T €1 3R AT HIOT T ST A JATST F (3)

TAT AT E1 HIOT AT FHHT (4) F Y § off FUer gUTaTaSE HJAT 9T £ 8% 3 & 3

(5) # He & T Y 38H g8 S I W 3EH @ AgH 3 9|

SubQuestion No : 16

VT fEE 1 F BT Ted 39w e @ aaa A
At v e

X2 g
73 ey
X4 T

Comprehension:

e T 71T e F FT weg ©7F QU Aw § AR vdw e we F 9N Reed Rr oA ) s At A
¥ Hid @1 Fwew Rea T & qfd wiem-

aRar & Tk (1) g o F==r 3 T O W AT F g Hepell F g1 TE AT HIR T
g ar 'aa (2) 3R 3T 1 AR G &7 g1 3PN TE I @ ST A AT F+ (3)

FAT T &1 3IUT A HioteT (4) F Oy @ off sTer qUTETaE AT A9 g1 S 39 & S

(5) # e F fov wAFEEg 3uH g8 S I WG 3 ST FAE ST 9

SubQuestion No : 17

7 g 2 ¥ BT gEw ERPCE TeeT 1 a7 fif5T)
Ans ?( 1 mﬂ.
X2 FAART

v 3 feera
X4 g
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Comprehension:

A e a1w g7 # Fo g ol G av § 3R gw Rea s & 91 Reed Ru v §) 59 w1t A
¥ Pl @ T Rea wue F i FET-

JTear ar o (1) ¢ ome F=2 3 T 9O & AT F g Fehelm A g1 TE AA HR O
g ar maa (2) 3R el & AR @i 8T €1 3R AT HIOT T ST A JATST F (3)

TAT AT &1 HIOT AT FHHT (4) F Y § off Fuer gUTaTaSE JAT 9T £ 8% 30 & 3

(5) # He & T Y 38H g8 S I W 3EH @ AgH 3 9|

SubQuestion No : 18
U g 3 F forr meEw 39 e 1 Taa HifFT
Ans X 1. FeraTe

X2 oI

X 3. geladr

o 4. q?;r

Comprehension:

A T aw g7 7 Fo g o G av § R ww e v ¥ 9w Reew Ru v §) sw ot A
¥ FiF @7 FweT Rea w= # 9 wem-

Trear ar o (1) ¢ o =2 3 & 9O & AT F g e ST g1 T8 A MR O
g @ 'aa (2) 3R 3ot T AR W &7 g1 PR TE YUY T AT A JALT F+ (3)

§AT T &1 30T A e (4) & O & ff s3er gvTETas AT AT 2 8 3 i S

(5) F de & forv HfAFeg 507 g8 S I WY 3 QT AG 3T 9|

SubQuestion No : 19

P g 4 F BT e ERPCI T &1 Tgaa HifaT)

Ans 1. lﬁ
2 2. HIOT

=
X3 Heg
X4 TMT
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Comprehension:

A R a1w g7 # Fo g o3 v av § 3R gw Rea s & 91 Reew Ru v §) 59 w1t A
¥ i & FeeT Rea e 1 i FET-

Trear ar o (1) ¢ o F=2 3 &1 9O & AT F goar e ST g1 TE AT R O
g @ 'aa (2) 3R 3T FT AR W G g1 PR TS YOI T AT A JAT F+ (3)

§AT T &1 30T A e (4) F oW T ff s3er gvTETas AT AT g 8 3 & S
(5) # He & v A 38H g8 S I W 3EH @ AgH 3 9|

SubQuestion No : 20

00 g 5 F BT gEw ERPCE FeeT 1 a7 HifaT)
A X et

X 2 TH

v 5 THedE

&y

X 4 TRy



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap



